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(t 3)/2 (4 3t)l4

(4-3ty4

C(t-32 =
ax(t-3)2 = 4x(4 - 3tyd. -
2t-3) = 4-3t. L
26 = 43
243t . = 446
5t = 11%
, t o= 2 O6NAns.
011 3(12 x)_16 2 | '
: Solutlon ' SRR
3(12-x)-16 <) 2
36-3x- 1502V 2 _
s PN AN RN P
3 9 L® 1836
NS A, W
] 5
W) N
W A W o8 Ans.

Q1.2: 2(y+ 929y )& 5 290

b 2 gy -

5-y
ASYF 2393 = 5.y
2y-@y+y. . =  5-2.3
-8y = 5-5
Y = 0

-No Solutlon -
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Q1.3: Bx+1=2-(x-4) 43 |
Caxed. o= L 2R 4)+3x
CoBx+1 ‘2. x+4+3x

L., ax+1 = . 3X-x+6
EET O
| U SR TR

_ : 3 ‘x- B 5 5' - A‘-ns.
Q1.4: 3;: 2)+4(2 x) x+2(x+'l) L
Solutlon ' - o g e
| -,,3{:(-2)4-4(2 x) o xe2(x+1)
3x-6+8-4x = X+2X 42
x+2 Coax+2

o & 22
: 7 _ '_T4X.' _ Q'= WL .
‘.2:' 32 = 14rl. 8 v

Bsoiution: . va(, 7 0) '. | L

o
@ﬂ&m‘,“f

‘|4c B

§ Q‘ Uy that bV T
b+Jb2 dac -
22 ;3

#(*14)1'\1(—14) -43)®).

‘» U 142 96-9%6
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14+10
. L~ e

A L 14410
X = 8 o e TR

s i 2

: - 6 6

2 .
S8 SR X=4 Ans

Q24 x2=2x-2
. e=2x-2
X-2X+2=0
~ Compare it with
ax?+_bx+c =0

e o —b+\fb’—4ac' ' Q
L T, 4(1)(2)(?'

_ 2(1)
) 21\}
2¢E' >
. " Solution is not pos* %
' Q22 412 + 3t = 1 "

6‘9

az1,b=-2,c=2 = " Q\
_Weknowthat ' IR %
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=TT ey T
T e _
g 3498
" 8
35
& N - 1 E _
e 6 T AL 345
t S= a‘__,cr- 1= S

..’1 ',ﬂ — g t=

E o pegmgy - b L

gt e B AL e g T
S e-MN+x-2 < 0 As - Loox(2)=-4 .
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Ax2H1(x2)< 0 © So

@x+1)(x-2) < 0 :
The followmg attributes of the two factors on the left side wﬂl result m the
' mequahiy will be negatlva if the two factors have the oppos:te 5|gn

—3x = -4x +X .

Factors. _
Product - -2 |  @x+1) | condtions -
gl T <0 | sp Condition - 1
' <0 i i w0 “ge o 'Condit’ioh_-é
CQndlﬂon -1 : - i '
&+1> 0 and . x-2<0
2 :".:‘.11_ I | |
X > _E

' 'Céndltlon -2: _
2%+1< 0

oot & -1 .

X < _ —;., : |
X< b
S

7 6 54 345

- The solution is ~Z<X <@
Q3.1: 2x7-x - 10>0 g
TS
"-"_2x2x10 °0

2x¢-5x 4 4 As - 10) = -
X + x “9 %@ S | | 2x(-10) {20_:

x(2x-5}+2(2x-5) \ ~ So . ~ *X=-5X + 4x

(x+2)(2x-5) : | e

- The follow;ng aﬂnbut&e two factors on the left S|de of the mequahty wm
be posmve it the two factors have the same sign. |
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Factors

~ product = |-

| (?x-?.) .

x+2

& ‘_bd'ndll_on_s

' g

->0

. '2‘0

L <0

<0

_ Condition - 2|

Condition - 1:*
X+2 >
x s

 Condition - 2
' xR <

o
3

x o=

0

10

“and,

: '2)(-.5;:?0

2%x>5
.
- RFH

" Condition- 1|
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X = . 6 (60
For y-intercept: =~
Put x=0in 'eq.(fl % we get
100)+2y = 60
2_y": , 60I
-

Y= 3

y = 30 (0,30)

Q3.3: 15y-90=0
' IR 128 P, peSt—
- Forx-intercept: '
 Puty=0ineq.(1), we get
S 15(0)-80 = 0
T80 = ..
% No solution. .
- For y-intercept: -~ .
- Putx=0in sa (1), we get
15y-90 = 0
15y = 90
B &

Solution:§

- For x - in'tertl:eb_t:__ , § ,

Puty.= 0 in eq.(1

cx-8(0) = &@V\' -

o -x. . 36

°-3'4“ Qe2y)/3 - 12 = (2 +4y)§v

o
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. x = . -8 (a60)
- For y-intercept: e
Putx=0in éq.(‘l),'weget. K
(0)-8y. = 36
ey = 3 '

yoEe
I ..‘“y  = . _.6.

Q3.5: ax+by=t
o =l é)( .|.by= tl e (1) '
"."‘Forx#int“ercapt;'-" g BE

L axkb( = ot N

e w CE,

: x;‘ .—_ - a . ’ Q :
;! .Fo‘r y-intercept. (,v,& | QQ

AT DTMIAA BFaoitie Yoabas



- Q3.7: px=q

| ' Nosolutlon , : o B b
038 dx ey-l-f gx hb‘ L v
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. Put x = Olneq(1) we get N 5 s R |
CO)-dy = e -
dy = e

v_'d=._ T (0"3] !

Solution: e _
%, PR (.
. Forx- |ritercept -
Put y=0in eq. (1) we get
' 'PX = -q

oo
—
"o la
y i

For y-inte}cept o e B * |
Put x = 0 in eq.(1), we get CF o %
-p(0)__q._..-'._"._-.Q,

S SRE LI @ ®

B A T s

7
a

AT T N R R e
AR T T i Y

o dx- ey+f-—gx hy -------- (1):% .

For x - intercept: \ ‘
'Puty Olneq(‘l),weg %’bg\'zQ
dx - e{0)+f = Q.\O .

dx+f - gx
dx - gx- ‘

 (dgx = \ “\Q
. _(Q~d)x PR
o ”"““""‘*"‘ et e LR
Putx 0|neq(1)$ o TE _—

SRR
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. ey+hy

o .10 7

L ey +f= -hy -
' o ol 5,
. .- '.'_f

S eyt
o ehly=o

oo0on

i i _ry =8 "

. o I ‘I'y.=rs".r..?__'_-__‘(1}-_ @ | ..

Bt e M %, No solution: . =~ - - * SIPCIR A
. For .y-intercep't;_i‘ o & A -
e Putk=0_in eq.{1),wegeQ$:°® Q\ :

- .

For x - intercept: _ S
~'Puty=0ineq(t),weget
. _'r(o) - : s - l. - -

A
TR
6 .. ?ﬁtzﬁe&)g ]

\v = m(x - x1).

sy
x+15

%
+J’ _
s ¥

NS T
b‘;? NE

C8x+15-16
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2y = 3x-1-
31 '
y .= EX:'_Z'.

Q4.1: Slope = 0, (20, -10} lies on line.
 Here m=.0, (x1,y1) = (20, -10)
The point slope formula is -

Coyeyt = mix <x1)
y-(10) = ~ 0(x - 20)
S y+10 = ‘ 0
N R I - 10

: '04.2: Passes _t'hrough '(_7, 2) and is pa}allel .tc},the' line(a)x=7 and (b) y a- 6.

| S

" Here: (x1,y1) = . (7,2
And x oy = . 7
g ¢ ' = x+7

|

Y = - mx
o m . g q n

y-2
"_y-2l-_ L
0ly-2)
g
or X

'- B Solution: (b) Y '
P Here (x1,¥1;

“And .y : I & '
& Compare it@ SE

. The slope - intercept formula %s%
oy q& '&@i

Ly = ‘x+k"
om =0
AL p.p;ﬁ;«;g{_ﬁ_"hﬁcqtms - Lahore
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" The slope - intercept formula is "

y-yt = mx-x1)
Cye2 = 0kx-7)

y-2 = 0.
ARE R = 2

= ———— =

. @5:  Rewrite the foiiqwi_hg sjréterhs of equations in matrix ldrm,_ vy

‘axt+bx2 = ¢
ot . dxl4ex2
S 0 gxlehx2 =
S axtabx2
dx1 + ex2
'_'gx1+bxé_ :
' ~ In Matrix fo'_r_mﬁ

fa B

n u
— -y

1
0 ;

|
—

"bx2 + CX3 + dx4 + X5 =1
-hx38  +iXE=]

alx? + a2x + a3 = b1
adxz + a5x + a6 = b2

T

matrix form. '

| ?2'@!& the following systems of equations in matrix form.

‘ Al - kFF’@M-Pﬂ“.‘J#’ﬂﬁmwi P rhasa |
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In Matrix form:

_ - b3 ;
2o
las a aa_ 1 b, |

2 4 2

Qs3: |2 0 4]

s ookl 8
N T2 -4 2]
U R [ T

4 3 -3

4

Catl =(- 1)1+1

: ol =H012) =12 Q%
a'{2 -(1)1+2 :- 44 (eﬁej  { ﬂ oA
g 4 -3 . T "\ A

a1 =(-1)2+1 | .

N a13 (013l =+t-'e-%
_ 2

a22 =(1)2¢2
- a23 =(
af31

a%2

233  =(-1)3+3 @-F(O g . =8
- The cofactor%x e "

a1x2 +a2x+a3=b1
adx*+abx+ab=b2 -

f The Cofactors are S o TPy Faow %\
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(1 ddesieuM) G6165PG-EEE0 / G6LSGYS-L2E0 BSIN 10 1120 SINJWNDISSY NILLISM ONVH / IPd 13O OL
NJ5_ND e SINIWNDISSY G rsiadedqi-~9=yrsiadeq SSOND e~ i



'.'sg'hr.(ill'eé.*s- Pap"er.' Business Ma_athematics 1429) ﬁir BA;B.'cdm _ .

A. :

Solution: .

1

AL

L

Q6 Find the determinentof .
- g (27

o Expénd f

'3 2 0]

.3
=2 -3
3 6

- [=12. 10 8] ¥
[-18 2 22

L T

270 -
2'3 0
3 6 ¢

0
Colum
7 -

28 -2
I‘OITI_
2

. Bx1-2x2=-13
4x1 +6x2=0

Al REHAN Piblications - Lahore
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. Aecording o

K=

-78+0 |

; "_And' ‘x2 B

Q6.2 5x1-4x2=-8 °
 145x2=47

Cramer's rule-

VER

| (:13)x6-(2)x0

| 3x0-(-13)x4

| 3xB-(-2)x $ 0 -
e ié? @o @Q ..

AeHE

By
LA

iy wd
’ 0.6

3x6-(-2)x4

“18+8 = 26 = -3
3 -3 a
'4",- 0‘ :
e

4- 8

5e

W
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-8 -4
a7 8.

_Bx5—(<4)x47

5x5-(4)x3

| 40+188 148

g

ezt o4
o5 -8
K E "5 4

| 5x47-(-8)x3

_. 3 . . ' 7 .= Bx6- ("4)"3 .
: i 25+12
) Q63 x1+3x2 2x3=17 4@
ax.l -Hs: + Ra3= =-W' Q °°

5x1+2x2 4x3- s
- Solutzon ¢ 0

17 3 2

. - Al- REHAN Publications - Lahore =
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_1?-_4 1_3'—16’ ,1+(_2)-1e -4
| 2 -4 21 -4 21 2
4 4 _[2 "1 2 =4 '
4 -3 {+(~=2) .
2 4 ‘5 —4'” )’5 2\_ -

17(16 — 2) - 3(64 — 21) — 2(-32 + 84)
116 - 2) - 3(~8 - 5) < 2(4 + 20)

. 17(14)-3(43)-2(52).

A(14) - 3(—13) - 2(24)
238 -129-104 238 -233

' 14+39-48  53-48

LENY
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o 24 TI5 21 5

# o & e

(-84 + 32) — 3(42 + 80) +17(4 + 20)

 4(-52)-3(122) +17(24) -
T T(14)-3(-13)-2(24) .

| Q .\QQ Q\ %05\,3"_15 ._-G\-s\__s_; '_4_,2\#9_-:_14 P

Q

o ,—.1.3_ +'12_b =102 L

ol

_, SR gt 10-i20
Q‘b o, A e

S o " AB |A| =0, no inverse exists.

= 1('16'*2)_'-'3{—3-"‘5);'2(4"720)‘_ : |

o _52-366+408 _ —418+408 - 2
THass9-48  b3-48 -

N 3(-5-“.0)—-5'(;24_:..0)+12.(_-604.9)__.___'
C3(8)-s(24)e2(5)

T e

24 5 4 5 2. -

S

" AL~ REHAN Publications - Lahore
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1 1

a7.1: |3
o . 3 1

Solution:

a'll

0
2

a2

a3

a21

=(1)143

1
-4
5
Al

The Cofactors
. 0
'—'(f'l-)'l +1 2

=(-1 )1 2 _

W Lo W

N
i

are

s

—-—

1

, 1
. _-’0
(

<
LOL I Y

—

i

Adj A

>|-

N O s

P44 g
2 5. |1 5 .412

1 0+a)—1(15+'4)+1(5—o)§\
1(8)-1(19) +i(6)

' 8-19+6
d 14'-.15 :

FR .8 L e e T

I B L N KON L R KT T e

L O e G I T A
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' 720‘ . . i

3, .ol |
The cofactor matrix is p

L 8 -19 - 6] -
|

" The adjd_iht‘matr'ix is the transpose of Ac, or

"o : . 8 =3 -4 s
A Ae S AT

Le-1-s

. 'a33 .=(-1)3+3 =+0-93) =-3

8, 30, 36, 42, 52 e 4 3wt | s

Al- REHAN Publications - Lahire .
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28"'30":.@:29
2 . &%

“So, Median =

-~ {c) | No mode - B
(d) PRange=Xm-X0=52-10=42

x2 . X
100 - 1o
24 [ 18
400 : 20 -
oz | s
e00 | a0 ¢
1206 ' |
1764
2704
5x* =8272

| '3'_. ZXZ_(&T;‘ 327-2_(3313_ '

Solution:

@

- (b)
So, .mecliian & '

(¢ No m%é' '\ s,

(d)  Xm =200, ‘—Ib |
Range = Xm= X&l - 20 = 180

() Standard deviaton

(# ddesieym) G6155S-€€€0 / G6LSSPS-L2ZE0 BSIN 10 [BD SININNDISSY NILLIHM ANVH /JPd 139 OL

29N 7r* SINIWNDISSY g siadeda~a=yrsiaded ssan9cg~—~iN

Al - REHAN Publications - Lahore




22

" Sahiar Guess Paper. Business Mathematics (1429) for BAB.com

: _xz. 3 . t‘ .- x

400 ". N 20
e | w0
g0 o e
6400 -_ ™ 80 -
10000 . | | 100
mooi b 120

tes00 -} 140

25600 160
32400 .

ShR :i\;ﬁ-'
\;E§?>'

20+20+25+30+35+40+40+45+50

; _item=‘[1'-5.2'."'1]'item;ath-it_-em' el

@

Al REHAN Publications - Lahore
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o

0
25

-

40 .

o o] x |

5 .
10
15-
20
20
20
25
30

40

45
50

© Ix =360

W I

' @8.3. Determine the mean, median, and

distribution.-~ -~

1 ek | _.cs
s | 184
20 &

 Al- REHAN Publications - Lahore
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-, h(n .} il
- p e —="2=26
..Medlan-._ - f[z ] SN 2,
_ £=35h=10,f=10, -+ ¢=20
- Median= 35 %%(26'-'20-):35”(6);35+6‘=__41 |

o e s

£ _ A+ m 1 —+h
Mode= -t - |
£=45F, =16, F =10, F,=6h=10

| - (16-10) N R R
45 10=45+— _x=45+ — %10
L (T P (T R A T
R -_-=‘45+-16—2_-_745+3I.75=4,8.75____ e

' Q8.4: Forest Fire control table 14.18 s _arizéé_ data from an experiment in
_ " which the department of qm@ tal__maﬁagement dacumented the

-+ number of forest fires i’% _ ch'ﬁover a 60 day period.
- Detérmine the memms%.né@@ ..!Qd)ﬁia and interpret the =~
. meaning of each. v & A g B

olutr

"

& 0
GRoR AR s

0‘%’

Bog N o o @
® N ® 0 A W N

FX=216 Sx =60
LFX 2165 5t

S =223

= 3F 60 -

 Al- REHAN Publications - Lahore
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Median = 4 ~ (Middle value) - .
Mode =0 - (Value of X against highest frequency)

Q9:(A) Given § nofma! distribution wherel' = 50 and B = 8, determine the z

- values corresponding to each of the fallowing values of the r'ahdo_m
variable: (a) 56, (6) 42_,-(::),6_6,' (d)36,and (€) 75. '
BSolution: _ : i w o
M =50, - | :0‘ ,=8‘

x-p_56-50 6 ...

(a)r X=5§ 5 ‘Z=‘ s .'8 8
(b} | x=42° z= ""“_=4.2'5°.=§=_

- | x-p_66-50 16 , . -
RN A e RO T VR
@ x=36 - z= x-p 36-50__14_ . S
TEW L TR . L e B B

@ xe75 . p= XoR.T5-50_25 oy
» . B R Y .aN

- (B) For the standard normal distribution detetr
@ PE>24 . (b QR

(o) 'P(08<2<30) - . -

.“I=‘O,‘-c =1 l ‘ |
(8) P (z>2.4)=05 04

. Qto:

Al- REHAN Publications - Lahore .
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=Lim_M w

i x.—}T-B':'(gq,.xl). -

F e R

ROt 12 I RIS

=Lim(9-x)=9-(-9)=9+9=18

. X8

ato: Lim(4x* ~5x* +10) -+ -
&L"J(éf ;-i'5f>i<2_'+1'_'0) : |
=4c’-5c7 410

0102}L¥]}(X2—2x+3) N

' Li’m'(xz‘ — 2)< + 3}

" For the followirig sCed ‘&ﬁ g é&t-ﬁn‘d comment on the.
.;ex'istgnceof,any'»g tes. 2) e Al e w
4 Q B (’ ula SO L PRI

S

0 . (Saya) . -

&8
<

K. T,
~Ferh symptoter .
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Limf{x)=a
=2 Y= 0 = g a=0
For vertical asymptote:
i
4

(Means numerator is not zero-but denominator is zero). =

= X2 _-0

_ 'x'-:(]'
E Q10.a: Lim X2
N s x+10 0 -

-x—>°gx+_1~0“ )

 =Lim _/x X

=Lim
- .x—rm-1+1

_5-% 5.0 5

| For };ofi#'ontél asymptote: 73 Q L ‘
b QQ(,&”\%? i

", i '-“y'=5h ) °
_ ._For vertical 'asyrhp%\
© - Limf(

'X)=-co

B3 g ‘
: - =w

E x+10. . & _
Co= xa10=0. . QY

" Al- REHAN Publications - Lahore
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N A

e x‘=-10' -‘ .. . .

91'0'5:'&1215,;_,__1‘00;'- R AN

B Solution: R
b * ILim' _3)( L P w
x> §x+100- ey g . B g
o e e
SN ey T R e
' - =Lim-— F= = - «
g > 100/ 4100/ . -
AT 0 5+ U S
fiye. . =3 - _ -3 =__3_ .
| W,  5'+‘!0%0 5+0 5(saya)
| . For 'hbri;oqlal asymptote: ‘
lﬂ’mf(x)=a %
S = IS

> @ P

- For vertical asymptote: Q
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10 10 )
8 o 8+ 8+ o
= Lim- / / :
Kedewm _4 ;
10 ‘
8+ Lo _B__
‘ —4 4
N For horlzontal asymptote
_Limf(x)=a

x—)-eo

=B (saya)

o= y=-2
: For vartica! asymptote:
. Limf(x)=o

X ==

Bx+10 _
-4x ST T
o = ; .'4_){I.=Q=x=0‘._"-

o11: y=f(x)=-5x*

y=f(x)=-5x2

—f(2)——5(2) --
'Ifi\y srz p

; ﬁ 3 %&i‘?
 anay=fe | §Q

y, =f(-1)= -5(— -56 'b

Al < RFFIAN Publigasio=~ . T ahiore
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= 1(@)=3(2) +4(2)-5
oo=2448-5=27 o

27 (12} 27412 39 .

| (1) 241 fg
ana2:y=f(x)=

Solutlon o 5,

: "‘,y.=f(x}*"=. o

L _,_“__'y1 5. 1)=(_1)4_._=-1  . _t

=(2)= (2) 16§\ |

- Ay _Y- 1
e BX X, - Q 6&
16 1 L2

N

3 ."011 3: y .f(X) «@(’ ‘b’é)

| - Solutlon % Q' (,u
,$ 1&10——9

S
V\Q"gg* ;&b“)‘é ()(*—9)x 645 15 5 L e e st

A
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3¢

) [a(x+ Ax)+b |- (ax+b)
T AX
_ ax+aAx+b-ax+b.

' AX -

anx .
= =a

CAX
'Limﬂ=!-.iri1 a
Ax—0 A - 4x-0

- d—y:'a

R -

o @121:f(x)= ax® +bx

I M ) f

“a EZ =.i f(x '+'~:Ax)~'f('x)'- |
o AX AX

AX

N .—a(x2'+23(.&k+(.&x)_2 +bx+be+E§2
 -20xAx—(Ax)’ +bAx” v &

. L Ax :
!:Jﬂgﬂﬂ&'ﬂ(- 5( :
e o, kil G A .
25T )= 206 ‘b\o

L/

' I:-fa(x + Ax)z -f-b('x 4 Ax)]— (—éxZ_J.- bx.)

N
SA N
A’

S
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o oalx
o o 2x+2(x+AX) -
S x(x+Ax) T Geow,
L —2X+2X+2A¢ _ :
,- UL REAR LD R
CTEx(xax)

A

x(x + Ax)

O um el
& AX &o0x(X + AX)

Q13 f'(i)-='

* ‘@6& ', o
(R e

~‘<§§p ‘ ey

3(’5217'2:&:_?-%5')5

N

. dy o2 §~
' ; e L. z i N e - x

' 4;,;.REH*1_“5.?:j!,ica:gam.'.z&h‘bm_'- @
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Q13.1:f (x) =

' _Q13.‘2:_j'{i) .

ESolution: B

Q13.3:(x) = €

)

- Q134:t(x)= €°
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%5 f(x)=exz .

Q4 f(x) (5x2 10)3 hl

Sotutlon ‘ |
' f(x) (5x 10) | got
. f = B(5x-10) di(sx 10) L
S -8(5x -10){ (2x)- }

-. -8(5x 10) (10x) s0x(5%¢ 1oj 0

| ' E _160(20 1 “(PQQQ'- Q)

| ____)5;__. -
‘» f(x) 5(2x 8) -—-r(2x 8)
—5(2x a) { (1) o}
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- 35

~5(2x -8)" (2) =10(2x - 8)'
=10(4-8)" =10(~4)"

=(10)(256)=2560

o fF=0

o 10(2x-8)'=0 .

= . (x-8)'=0 |

A Mo MR 2x-8=0,2x'=8.'x_.=4

o Q1a.2:8 (x) = /X2 + 21 o
B Solution: [N

. _: £ = Jx*+21

- f _M’:%(xz +21)_3}{2x+0} j-' | & |

—

gl
S,

: '.'.014.3':;% .(le) %dﬁ=o
I A
: 0144.f()-ej_\& :&O\VQ \
B O

o fw¥o

@ res=Jara AE Qy 6“%;%2';’ "
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-~ -0=>e =0

j Taklng ‘I on both sides.
Fowe™ : ©Ln(e*)=In(©)
e ' '  _ ‘xlne=0,- x(i):’d iy
B AL L x= =0x=0 s lne=1
© __Q145fix)-. x2+4x+15 "
o (a) f(x) -.-x2+4x+15

' o (x)_ 2x+4(1)+0
T -2x+4 3
. f (x)_ 2(1) +4=- 2+4_2>o s
o fis increasmg function at x =

N ' Now f(x) x2+4x+15
LI f(x)-- .2x+4(1) + @
R 2x+4 Q
iy & wauill 4.__
. B 3 nnnl :

Y f'ioii?
5. o

Q‘S}e"- :
SR ¢

x> 2 ol e My S
a% neither mcreasing function rnor decreamng when Solutlon:_ ool

: 2x+4 0

Al -"R'Ef{w g»gwcamm--mo;e' i
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.3? 4

-2x=44
-4
=
x=2
. Q14.6:1(x) -3x2 +2x -3

2X =

f(X)=-3x2+2x-3
F()=-3(@0+2(1)-0
'=-6x+_2 . o
' ()=-6(1)+0=-6
' Putx=-2inf" (x), we get
- (X=-6<0 2!
The graph of f is concave down at
' Xx=-2.putx=1inf" (x),
. weget b

~ The graph of  is concave down at x ﬂ'@ (P’

QAT () =x3+12x+1

| F=x@+12x+1 $
o (x)=3x2+12(1)+0«%

o zse+12  Ca
S ()=3(20+ %
 Putx=-2in
()=

. -Thte.? |
- Putx="1i

f m;s% RS
The gra;'ahro is &t ﬁup at

x=1, : '

Al- REHAN Publications - Lahore
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CAMs(A) (=20

: . 2
)= m2X —
LT 2
2, TS “2(29 +i§- |
.I C=- 4x+4x3 o i i
f“(X)— 4(1)+4(3x2) . . Yo,

-4 + 12x2
Put f' (x)

nH
B
>

o ol

o §7 '
e

S
I

l‘l ]

B R Y DU
| _- :_‘:: .‘ Putx omf(x) @%&Qsé‘) .‘ " g _.
SR oakWEFP
%‘wegat 5
12(0)—-4-:0

. 4>‘<3 -4x=0
{6 %@* 0 o9
m@m ated at
_ph of fis concave down at x 0 and a relatwe max:mum at (0, 0); :

7 .
1‘2} in f" (x} we get ~
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- C = 350,000 + 300g + 0.0015q2

B maximize an_nual'pro‘fii, ' e
(b)  What price should be x 2
(c) What is the annual @

e ] NOW

._ | s
We know that Qg :

- Sahar Guess Paper. Busit_le..i.is Mathematics (142§) Jfor BA.B.com ' : ' .3 9

f ,(x}=-4+1'2(1_)=-4+12=g:.o

" The graph of f is concave up when

' - X 7
x =1 and a relative minimum at [1—2-]

7
() =-4+12(1)
; =-4-12
=-16<0

Put (1-'."J in f* (x), we get -

~ The graph ot fis concave qbwf} whenx=-1anda relfa\:tive- minimum at
‘A company estimates that the demand for its product fluctuates with the
“ price It charges- The demand function is ‘ :

q=280,000-400p o .\ . .
where q e'quaI; the .nuinbe:j 6_! units demanded and?.84ua the’pric_e”i'h
dollars. The total cost of 'p;oduci'ng_,.q uﬁité of thé 1is-estima
by he function ' 'y B

(a) Det,erm_‘inre' how many units 'q

g = 280,000 -
c -_'-_350,'00@%_#\

R=pq

- Al -"RE;HAN Publicatioﬁs -'Lahﬁ_re
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=(700-0.00250)q .
. - =?00q 0.0025(]2 v
SNow v it T e
Cop=f(@).
i T TS e I T N T
~ p=(700q - 0.002562) - (350,000 + 300q + 0.0015q2)
. p=700 q-0.0025q2 - 350,000 - 300 - 0.0015q2 - .
" f(q) p =~ 0.0040g2 + 400q - 350,000 - L
(@) (q) =-0.0040 (26) + 400 (1)-0
' =-000809+400
' Putf (g)=0-00080q+400=0
© . 70.0080q=400

o <, %y q:= 400 . [ A o
. a=$5000 § R T
B p=7oo.o;0025& & Q\ cogt b
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